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OFal ELY W= 6,000, 0003 14 6,000
Ot = - 00X A
3,000,000& 12/ 3,000
220t & UE30tE N2dE 23 317,524 301,024
Il 168,762
S 79,382
Al 79,380
307 glztol & 317,524 301,024
Il 168,762
< 79,382
Al 79,380
10 AMASANANEEESEHES 317,524 301,024
OSZEAALNFEXNALE 2 (1HA)
179,694,000 & » 14| 179,694
Il 89,847
= 44,924
Al 44,923
os ESNEXNALH 2D (1HA)
137,830,000& » 14! 137,830
Il 68,915
= 34,458
Al 34,457
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2N
X ZH -
L= B

el

P IlE=n}
oy =X s
oe=x s

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

OOl =S X3 AE

= N H

1,025,970
718,180

163,895
163,895

1,025,

970

307 21201 &

= N H

1,025,970

718,180
163,895
163,895

1,025,

970

10 AR SAAIEHIS2SHIEX

OotolEs KA (1)
1

,025,970,000& 14!

= W

1,025,970

1,025,970
718,180
163,895
163,895

1,025,

970

F RIS B

= W

165,000
70,000
35,000
50,000

185,

000

307 21201 &

= W

165,000
70,000
35,000
50,000

185,

000

10 A SAAIEHISSHIEX

OFARAININE XA (1IHA)

155,000, 0003 » 14

= N H

165,000

165,000
70,000
35,000
50,000

185,

000

OH
O
)
o
o
0ir
o
Mo
02

H

Al

40,000
28,000
6,000
6,000

40,

000

307 glz2tol ™

hn X

Al

40,000
28,000
6,000
6,000

40,

000

10 AR SAAIEHIESSHIEX

O2s=s0tlisd 22 (17

5

40,000,000& *1

Al
Ay

= M

40,000

40,000
28,000
6,000
6,000

40,

000

= N H

4,580
2,290
1,145
1,145

4,

580

307 gl2tol ™

W

4,580
2,290

4,

580
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AR GRS =
3 od =N 58

22 Hg=sEX 58 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,145
Al 1,145
10 ALSISXAIEEE2EHEX 4,580 4,580 0
OO0l BER2uSK(104A) 4,580,000 14 4,580
= 2,290
< 1,145
Al 1,145
HEE" 23 Ald SML BN 1,920 1,920 0
J| 960
= 480
Al 480
307 21201 A 1,920 1,920 0
J| 960
< 480
Al 480
10 ALSISXAIEEER2IHEX 1,920 1,920 0
O0AE" 2| ANl SAL E2DKR(4H2)
1,920,000 14 1,920
J| 960
< 480
Al 480
HEEY 2EAE 29 THXR 64,496 64,376 120
< 32,248
Al 32,248
301 e A= 25,680 25,560 120
< 12,840
Al 12,840
01 AR 2Z A5l 3 25,680 25,560 120
ONEZADEALE SAK XSS (5HA)
25,680,000 =14l 25,680
= 12,840
Al 12,840
307 21201 A 38,816 38,816 0
< 19,408
Al 19,408
10 ALSISXAIEEER2IHEX 38,816 38,816 0
OSsadgds 2 (112) 38,816,000 =14 38,816
< 19,408
Al 19,408
JHEEH Jtoll A WEXISEZZ S22 6,972 6,972 0
J| 4,880
< 1,046
Al 1,046
307 glz2tol & 6,972 6,972 0
J| 4,880
< 1,046
Al 1,046




AR GRS =
3 od =N 58

Sl a=x S (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
10 M3 SXNANEHI2IHE=S 6,972 6,972 0
ONBE SN DEAS T2 (1044)
6,972,000 » 14! 6,972
| 4,880
< 1,046
Al 1,046
NHE=E Okt ESAE 22 K& 153,961 150,502 3,459
| 112,573
[ 20,694
Al 20,694
307 gl2tol & 153,961 150,502 3,459
| 112,573
< 20,694
Al 20,694
10 M SXNANEHEI2IHE=S 153,961 150,502 3,459
O =HIaHA BESAIE 298I (11A)
130,961,000& 14 130,961
| 91,673
< 19,644
Al 19,644
O =HIUaHA ESAIE Bl=3X MABI(1
M A) 16,000, 000& 14! 16,000
| 16,000
OJE=gIoi it HHEedl X2 (1)
7,000,000& » 14 7,000
| 4,900
< 1,050
Al 1,050
IYEY Dol XES=E 2O Y o2 N 33,000 31,000 2,000
| 23,100
S 4,950
Al 4,950
307 glz2tol & 33,000 31,000 2,000
| 23,100
< 4,950
Al 4,950
10 M3 ZXNANEHI2IHE=X 33,000 31,000 2,000
ONFEZHTGHA 2= HI(20HA)
8,000,000 =14l 8,000
| 5,600
< 1,200
Al 1,200
ONF=ZHIcHA XNS=SZ2 O (10HL)
25,000,000& =14 25,000
| 17,500
< 3,750
Al 3,750
OtsSAHE XS HE XA 3,630 3,862 A 232
= 1,815
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AR GRS =
3 od =N 58

22 Hg=sEX 58 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 907
Al 908
307 glz2tol & 3,630 3,862 A 232
= 1,815
< 907
Al 908
10 ALSISXAIEEE 22X 3,630 3,862 AN 232
OOtS A XIS M & (1004 ) 3,630,000% 14 3,630
= 1,815
< 907
Al 908
OtSHEtMRGAH2 Y 7,240 7,240 0
= 3,620
Al 3,620
307 21201 A 7,240 7,240 0
= 3,620
Al 3,620
10 ALSISXAIEEER2IHEX 7,240 7,240 0
OOSHAEAENSAAU2E (10 2)
7,240,000% 14! 7,240
= 3,620
Al 3,620
=9 dgs 2EXH 176,048 171,509 4,539
J| 88,024
< 44,012
Al 44,012
307 21201 A 176,048 171,509 4,539
J| 88,024
< 44,012
Al 44,012
10 ALSISXAIEEE2IHEX 176,048 171,509 4,539
O8=Z=E4eLs 23HI (20 4)
176,048,000 = 14! 176,048
J| 88,024
< 44,012
Al 44,012
SZYIHAL ESAE 2GR 216,617 213,433 3,184
J| 155,195
< 30,711
Al 30,711
307 21201 A 216,617 213,433 3,184
J| 155,195
< 30,711
Al 30,711
10 ALSISXAIEEE2GHEX 216,617 213,433 3,184
OSd=dIloi At ESAIE SLDHI(1HLA)
216,617,000 » 14! 216,617
J| 155,195
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S HgotEY
g =X 58
CoHd=EX s

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 30,711
Al 30,711
SAEZH TR =X 9,144 8,144 1,000
J| 6,400
= 1,372
Al 1,372
307 2Iz2t0| & 9,144 8,144 1,000
Dl 6,400
= 1,372
Al 1,372
10 MM SXAANEEHESIGHEX 9,144 8,144 1,000
O&d=ZTlol A 22| (3HA)
9,144,000 =14l 9,144
J| 6,400
& 1,372
Al 1,372
AEZH IR NES3=2ASE 23,009 26,847 N 3,838
J| 16,106
& 3,452
Al 3,451
307 2Iz2t0| & 23,009 26,847 N 3,838
J| 16,106
= 3,452
Al 3,451
10 MM SXAANEEHESIGHEX 23,009 26,847 N 3,838
OdZ TolA AT 2] (3HA)
23,009,000 23,009
J| 16,106
& 3,452
Al 3,451
SOHOHIIOH KF RIRAIE & AYdA 29 149,900 145,500 4,400
J| 74,950
= 37,475
Al 37,475
307 2Iz2t0| & 149,900 145,500 4,400
J| 74,950
= 37,475
Al 37,475
10 M SXAANEEHESIGHEX 149,900 145,500 4,400
O4S0HoHImol A S A 2AHHI(1HA)
149,900,000 149,900
J| 74,950
&< 37,475
Al 37,475
SOHOHII o RF 2 EX& 15,716 15,716 0
J| 11,000
= 2,358
Al 2,358
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SH: OEISD
a8 2K BT
Sl GE=X S (B9 ®R)

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

307 21201 & 15,716 15,716 0
Jl 11,000
2,358
2,358

= M

10 A SAAEHIES2SHEX 15,716 15,716 0
O« OHOHIGH R 22X HI(10HA)
15,716,000 * 14! 15,716

Il 11,000
2,358
2,358

= M

=
fe
[z
o
Ho
02
He
il
1)
El
0
o
ey

411,324 445,930 A 34,606
287,332
61,996
61,996

= W

307 21201 & 411,324 445,930 A 34,606
287,332
61,996
61,996

= W

10 AR SAAEHISSHIEX 411,324 445,930 A 34,606
OMYHME 22 (11A) 202,384
—HAHAMN 2H(6E) 128,016,000 14! 128,016
64,008

32,004
32,004

= N H

QHIAN HEE U AN

24,048,000% *14] 24,048
12,024
6,012
6,012

o

= W

253
,600,000& =14 3,600
1,800
900
900

= W

—APE=2teldl & Ar= 22| Al

32,000,000 =14l 32,000
16,000
8,000
8,000
— g2l 14,720,000& » 14| 14,720
7,360
3,680
3,680
OMYGAIE HANA(3BE) 114,000,000 *14] 114,000
91,200
11,400
11,400
OXNYUSEH(4HNE) 94,940,000& » 14| 94,940
94,940

=z N H = W

= 0N W

H
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SH: 0EIED
HE: 04 =X 5T

Sl a=x S (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OEs3HE ZHXA 376,600 68,000 308,600
< 249,000
Al 127,600

307 gl2tol & 376,600 68,000 308,600
< 249,000
Al 127,600

10 AL SXNAIEEE2EH EX 376,600 68,000 308,600

O0i4 HAHADA (2N IE)

12,000,000& *1JH £ 12,000
< 6,000
Al 6,000
OXNGELST EHIEZAY 6,000,000 *1IH & 6,000
< 3,000
Al 3,000
OdgHgL el Es 50,000,000& =14 2 50,000
< 25,000
Al 25,000

OMZHE SAI EsHl X

200, 00021 * 1204 2«9 21,600
< 10,800
Al 10,800
OSEHHOANLNE 2Y 287,000
—STASINNLHE 2G|
276,000,0002! 14 £ 276,000
< 193,200
Al 82,800
- STOjgELHH AHEE X
11,000,0002! 14 £ 11,000
< 11,000
SEXINE X 2,255,780 2,014,834 240,946
p] 874,036
< 690,872
Al 690,872
HEDENAL YLK S BN 9,160 8,784 376
p] 4,580
< 2,290
Al 2,290
307 212+0| & 9,160 8,784 376
p] 4,580
< 2,290
Al 2,290
NN EEEEETIEES 9,160 8,784 376
OBRRIE SXNAE LLTAG NS (2
HA) 9,160,00021 14! 9,160
p] 4,580
< 2,290
Al 2,290
OHEYSH X 969,600 718,650 250,950
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SH: 0EIED
HE: ols =X

H: LEXIE XA (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Pl 775,680
& 96,960
Al 96,960
301 LEtE A= 969,600 718,650 250,950
J| 775,680
& 96,960
Al 96,960
01 Al E & A 46 2 969,600 718,650 250,950
OstE2II=E IHEH 2 SHI(13M018 Ols)
969,600,000 « 1Al 969,600
J| 775,680
& 96,960
Al 96,960
= Ols¥=Hl XS 16,050 16,200 A 150
J| 12,840
&< 1,605
Al 1,605
301 LEtE A= 16,050 16,200 A 150
J| 12,840
& 1,605
Al 1,605
01 Al E & A 462 16,050 16,200 A 150
OStREZ2IIE FIIYFH| 16,050, 000& » 1Al 16,050
J| 12,840
o= 1,605
Al 1,605
Ol nsH(ZE0M st2EH|) X 33,400 33,400 0
J| 26,720
= 3,340
Al 3,340
301 et A= 33,400 33,400 0
J| 26,720
&< 3,340
Al 3,340
01 Al B & X 262 33,400 33,400 0
OstEER2IIE 1SS st ZEH|
33,400,000 x 14! 33,400
J| 26,720
o= 3,340
Al 3,340
=\ | 4,650 6,000 A 1,350
J| 3,720
= 465
Al 465
301 et A= 4,650 6,000 A 1,350
J| 3,720
= 465
Al 465

_37_




A
X FH -
o =

=E

2

i
2

Jl

H

Al

4,650

4,650
3,720
465
465

6,

000

Il

= MmN

51,120
40,896
5,112
5,112

40,

000

11,120

51,120

Il

H

Al

40

,896
112
112

40,

000

11,120

51,120,000& » 14|
J|

Al

,120

120
,896
112
112

40,

000

11,120

0
10

Il

H

Al

,000
,600
,200
,200

,000

Jl

= M

,600
,200
,200

,000

12,000,000& » 14|
J|

Al

,000

,000
,600
,200
,200

,000

H

HIXI&

H

Al

. 159

579
579

,800

,900
,900

1,159,

800

H

Al

. 159

579
579

,800

,900
,900

1,159,

800

o

= A&

46,300, 000 * 141

Al

80,000, 000& » 14!

Al

,159

,046

523,
523,

80

40
40

,800

,300

150
150

,000

,000
,000

1,159,

800
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SA-HB .Y (BH) - MRAY - B il HDE2
ONMAE 882 HOIIE ME=2E XX
7,500,000& x 14 7,500
& 3,750
Al 3,750
OMAS B2201E UHHDSH (S, +212)
26,000, 0003 *14] 26,000
& 13,000
Al 13,000
DUHESAIE 29 581,527 590,558 A 9,031
< 107,325
Al 474,202
BUESAEXNSE 581,527 590,558 AN9,031
= 107,325
Al 474,202
307 212t01 & 581,527 590,558 N9,031
T 107,325
Al 474,202
10 Al SXAIEEHE2IHIEX 581,527 590, 558 N 9,031
OSRNELTI AL SHHI(1H4)
352,967,000& * 14 352,967
[ 52,945
Al 300,022
OStEILERAE SMAL S8
9,960,000& * 14 9,960
[ 4,980
Al 4,980
OBERIIS=NAIE SHXE SH| (204 4)
42,000,000& * 14 42,000
= 21,000
Al 21,000
ORN=XAL HAK HLHHI
20,000, 0003 *14] 20,000
& 5,000
Al 15,000
QUERIISEXNAE 2 (10 A)
156,600, 0003 *14] 156,600
= 23,400
Al 133,200
ChEs XN&E A 459,874 416,841 43,033
Dl 203,756
< 77,518
Al 178,600
Ch23, 2A=0 =X & 459,874 416,841 43,033
J| 203,756
T 77,518
Al 178,600
ol=04d XA 147,085 126,325 20,760
& 33,854
Al 113,231
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M 8 EH

HH: 023 X A

@2 U235, A=30 5X & (e &)
- - . =]

SN EH .S (3H) - HRAY - B %Eﬁ HDS2
201 Bt A | 375 0
01 AP 2t 2l Yl 375 0

Oget=gH| 375
— C230IE oA X Z 0] sHAFFEEIH] 375
SES(ZYIE) NN
50,000& *14] x33] 150
2+ A 3,000& x25H x3 3] 225
202 04l 2,952 0
01 2LHOHI 2,952 0
Olt=23 928 220 bl
210,800& 2H 73] 2,952
301 dEtEAZ 58,148 200
T 26,324
Al 31,824
01 AL 2 & & 2352 52,648 0
OCLE23IHE oY AtEe2 XA
41,648,000& *x13] 41,648
= 20,824
Al 20,824
OZE0I2UX 2HHS HIE X
11,000,000& *13] 11,000
& 5,500
Al 5,500
09 HALAHI EA = 5,150 200
O0l=0H4 HAEA 10,0003 x15% 83| 1,200
OU=sIIE stotssH 22 IOHA Al
8,000& x2004H 1,600
OTHE SIS lAfE AtH|
1009 *23| 8,000 1,600
OUESIIE oIAHX A BA A
10,0003 *25Y 33| 750
1M IIEtE &2 350 0
OUSINE A =& 50,000& x7H 350
303 =2 350 0
01 ZAZ 350 0
OUSIIIEXNE = 2 HEEF
50,000& x7H 350
307 212t01 & 85,260 20,560
T 7,530
Al 77,730
11 AIZI S X AIEE X 85,260 20,560
O0lF=04ES R =223 F
1,200,000& * 14 1,200
OUSRIIE H2URIZAF IRHML SE
= 50,000& *10H =10 5,000
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A OIS

Hu: 023 e A
Sl OH2d, o= =X B (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZe0l=d FAXE A
18,000, 000& 14! 18,000
O0IF04 =483 HOteSs
3,000,000& =14 3,000
OU=ZR3IIE FRESH =&AME
5,000,000& =14l 5,000
OUIetd 322 =3 ¢ IFHEUDI
10,000, 000& 14! 10,000
OUZst - 82018 Ol ¥58 5K
12,000, 000& 14! 12,000
OO0IF0&EuNE (822523510 - #g - 2H)X
2 10,000, 000& 14! 10,000
OUZsIt=E Ololl = 6,000,000 » 14! 6,000
OUZINEFXNIALEH AN SEE=Y
70,0002 *9% * 122 7,560
< 3,780
Al 3,780
OZE0IYUN 220/ 4HH 2
7,500,000 »1H 7,500
= 3,750
Al 3,750
=3 =X & 1,706 1,706 0
201 L2l 1,706 1,706 0
01 At 22l 1,706 1,706 0
OAZUFUXIAANHLARS 2H 1,706
—28+F 70,000% 11 »23| 1,540
-0 S 3,000%11H *23| 66
—EBS2(BAHS)HE 50,000 »23| 100
MEHYS U NEME S HESDSHHA X2 142,740 134,124 8,616
| 99,918
< 21,411
Al 21,411
307 glz2tol & 142,740 134,124 8,616
| 99,918
< 21,411
Al 21,411
10 M ZXNANEHI2IHE=S 142,740 134,124 8,616
OUR3IIE Y2uSAMY 142,740,000 14 142,740
| 99,918
= 21,411
Al 21,411
ZE0I2A HEH XA 3,000 3,000 0
| 2,100
< 450
Al 450
307 21201 A 3,000 3,000 0
| 2,100




AN &8Iz
Hu: 023 e A
ol CH2s, =0l =X 53 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HDE
= 450
Al 450
10 MM SAANEEHESIHEX 3,000 3,000 0
OZE0|2AF HESH AtH 3,000,000 =14l 3,000
J| 2,100
= 450
Al 450
OlE JIEs8td X4 24,224 17,155 ,069
J| 16,956
= 3,634
Al 3,634
307 QI2t0| & 24 224 17,155 ,069
J| 16,956
o=} 3,634
Al 3,634
10 Al EXNAEEHE2IH EX 24,224 17,155 ,069
OUSSIIE 0l sFXHXNSALY
24,224,000 24,224
J| 16,956
= 3,634
Al 3,634
CIEsJtEs Ao e X 54,981 53,757 224
J| 38,487
= 8,247
Al 8,247
307 QI2t0| & 54,981 53,757 224
J| 38,487
& 8,247
Al 8,247
10 AISI EXAIEEHE2IHIEX 54,981 53,757 224
OUE3IIHE XEH AdHLSRNAY
54,981,000& = 14! 54,981
J| 38,487
o 8,247
Al 8,247
200X SHAAMHA X 22,224 18,612 612
J| 15,556
=} 3,334
Al 3,334
307 QI2t0| ™ 22,224 18,612 612
J| 15,556
= 3,334
Al 3,334
10 A SXNANEEHESIHEX 22,224 18,612 612
OZE0|2AH SHAAMH A X
22,224,000 x 14! 22,224
J| 15,556
o= 3,334
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2 A
X XH
L=}

£

DA ED
D O2s NE ALY
U2, =2 =X 58

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 3,334
st=0uns 2949 22,162 22,162 0
J| 15,513
< 3,325
Al 3,324
307 glz2tol & 22,162 22,162 0
J| 15,513
< 3,325
Al 3,324
10 ALl SXAIEEE2EH EX 22,162 22,162 0
Ogt=0us=2g 22,162,000 » 14! 22,162
J| 15,513
< 3,325
Al 3,324
CtE3otE At 2tel XI& 21,752 20,000 1,752
J| 15,226
< 3,263
Al 3,263
307 21201 A 21,752 20,000 1,752
J| 15,226
< 3,263
Al 3,263
10 ALSISXAIEEE2GHEX 21,752 20,000 1,752
OLI23ItE HEBXT AL At (At 22l)
21,752,000 » 14! 21,752
J| 15,226
< 3,263
Al 3,263
NYAUSSIIESSH(AAS &) 20,000 20,000 0
307 glz2+0l & 20,000 20,000 0
11T MISXASEX 20,000 20,000 0
OMEHL2SNEEHM(MAC L)
20,000,000 =14 20,000
HHE2LZH(HLIIED) 82,326 72,936 9,390
Jl=23HI (A= 0) 82,326 72,936 9,390
J2ZH (A=) 82,326 72,936 9,390
201 £B-2dH| 33,726 32,676 1,050
01 At 22/l 33,726 32,676 1,050
Oget==EH| 16,446
—JIZ2 AR ESHI 100,000& = 18H 1,800
— S A =&l 500,000& »2CH »32 3,000
—SAJ EE P 330,000 »2CH *33] 1,980
— =S EH 7Y 150,000& »2CH 53] 1,500
—SANEX 2 20,000 152t A+ 123 3,600
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A OIS

H: HHE2IAH(HAIHE)
Jl2dHI(H&I=1) A HH)

= _ — d =
K- ZE SR (3) - HRAY - BaS e 2
—diOINESHEY 237,000 *3CH 63 4,266
—JI=2dABEY 1500002 *23 300
ozl 17,280
—EIED YRET S2HA Y|
8,000 «18H x103|x12& 17,280
202 044l 43,200 36,480 6,720
01 = LH o4 1l 43,200 36,480 6,720
O&II=L R=E 2
20,000 «18H «103| x12& 43,200
203 YR =&l 5,400 3,780 1,620
04 FN2ELSZ=TH| 5,400 3,780 1,620
ORAN2EYE=AHI 500, 000& =123 *90% 5,400
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